Pull of x for PV

Ratio

Pull ot y for PV

Ratio

Pull of z for PV

Ratio

Lgfe b

[ b :
1.6—"".'""':""': ..... _ ...........
% R R | 2 A
o 11T L S

1_ ............. 1aT ..,......E ...........
VR PP S SO A A [T N R

0.95

B0 =15 -10 5 0

Vertex z (cm)

5 10 15 20

Pull of x

Ratio

T

T S T

I S S

.

0.95

0 -15-10 =5 0 5 10 15 20

Vertex z (cm)

Pull of X for merged vertices

Ratio

...............................

5 10 15 20
Vertex z (cm)

—=— DQM_V0001_R000000001__Global__mkFitNewOLD1000time__RECO
—— DQM_V0001_R000000001__Global__mkFitOLD-checkDet12__ RECO

SRR

e

P R A

...............

0.95!

2

Vertex z (cm)

5 10 15 20

T ORI
T SO SO
pal e

1z

...........................

................

0\8 ||||i||||i||

0¥ =15 —10

2

)
Vertex z (cm)

5 10 15 20

Pull of y

Ratio

Pull of z

Ratio

2

1.8

1.6

14

1.2

il

-

-

Vertex z (cm)

Vertex z (cm)

Pull of y tor merged vertices

Ratio

Pull of z for merged vertices

Ratio

10 15 20
Vertex z (cm)

0 5

0.95°

B0 -15-10 5 0 5

10 15 20
Vertex z (cm)



	Contents
	Page 1


